Time to first relapse

A: When using time to relapse as 18 weeks if relapse occurred before 18 weeks
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) Time to first relapse (months)
At Risk
Extended: 114 111 111 42 35 26 23 22 20 19 19 18 18 17 17 17 15 12 9 8 7 7 3 3 3
Standard: 109 107 105 31 24 21 20 19 19 19 18 17 17 15 14 13 11 11 11 10 10 10 8 8 6
B: Using actual date of relapse
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Time to first relapse (months)
At Risk
Extended: 114 96 76 42 35 26 23 22 20 19 19 18 18 17 17 17 15 12 9 8 7 3 3 3
Standard: 109 92 40 31 24 21 20 19 19 19 18 17 17 15 14 13 11 11 11 10 10 10 8 8 6



